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1. O�£60©¤µ

(1) ®��þ|Ψ = ∇×G, Ù¥

G = (3x2, cos(zy),− sin(yx)),

O�Ψ �^Ý�ÑÝ"

(2)O�­�È©
∮
L(x+y+xy)dx+ (x−y+xy)dy§Ù¥L´ý�x2

a2
+ y2

b2
= 1÷

_����"

(3) O�­¡È©
∫∫

Σ xyzdxdy,Ù¥Σ´Î¡x2 + z2 = R23x ≥ 0, y ≥ 0��e

�²¡y = 09y = 1¤�eÜ©�	ý"

(4)O��þ|v = (y2 + z2, z2 + x2, x2 + y2)÷­�L��6þ§Ù¥L´þ�

¥¡x2 + y2 + z2 = R2(z ≥ 0)�Î¡x2 + y2 = Rx���§̂ Ox¶��w§L÷^�

���"

2. £20©¤3CåF = (yz, zx, xy)��^e§�:d�:÷��$Ä�ý�

¡x2

a2
+ y2

b2
+ z2

c2
= 1þ1�!��:M(x0, y0, z0)§̄ �x0, y0, z0�Û��§åF¤�
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3. (20©) �V ⊂ R3´k.«�§∂V´1w­¡§n´­¡∂D�	{�þ

|,
p = (x, y, z)´�m ��þ"©Oy²µ

(i)

∫
∂V

ndσ = 0, (ii)

∫
∂V

p× ndσ = 0.
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